$$\frac{\partial P}{\partial V} = \frac{-RT}{(v-t)^{3}} e^{-\frac{a}{RTV}} - \frac{RT}{v-t} e^{-\frac{a}{RTV}} = \frac{a}{RTV}$$

$$\frac{\partial P}{\partial V} = \frac{-RT}{(v-t)^{3}} e^{-\frac{a}{RTV}} - \frac{RT}{v-t} e^{-\frac{a}{RTV}} + \frac{a}{v^{2}v-t} e^{-\frac{a}{RTV}} + \frac{a}{v^{2}v-t} e^{-\frac{a}{RTV}}$$

$$\frac{\partial P}{\partial V} = \frac{-RT}{(v-t)^{3}} e^{-\frac{a}{RTV}} - \frac{RT}{v-t} e^{-\frac{a}{RTV}} + \frac{a}{v^{2}v-t} e^{-\frac{a}{RTV}} + \frac{a}{v^{2}(v-t)^{2}} e^{-\frac{a}{RTV}} + \frac{a}{v^{2}(v-t)} e^{-\frac{a}{RTV}} + \frac{a}{v^{2}(v-t)} e^{-\frac{a}{RTV}} = \frac{a}{v^{2}(v-t)}$$

$$\frac{\partial P}{\partial V} = \frac{-a}{v^{2}} e^{-\frac{a}{RTV}} + \frac{a}{v^{2}(v-t)^{2}} e^{-\frac{a}{RTV}} + \frac{a}{v^{2}(v-t)} e^{-\frac{a}{RTV}} = \frac{a}{v^{2}(v-t)} e^{-\frac{a}{RTV}} = 0$$

$$\frac{2RT(v-b)}{(v-b)^{4}} = \frac{av(3v-2b)}{v^{2}(v-b)^{2}} + \frac{a^{2}}{v^{4}(v-b)RT} = 0$$

$$\frac{2a(v-l)}{v^{2}(v-l)^{2}} = \frac{av(3v-2l)}{v^{4}(v-l)^{2}} + \frac{a^{2}v^{2}}{v^{4}(v-l)^{2}} = 0$$

$$\frac{2a-\frac{a}{v^2}-\frac{a}{v^2}-\frac{a}{v^3}(3v-2b)+\frac{a}{v^2}=0$$

$$2a-\frac{a}{v}(3v-2b)=0$$

$$2a = \frac{a}{v} \left(3v - 2h\right)$$

$$2a = 3a - 2ab$$

$$\frac{1}{\sqrt{2}}$$

$$T = \frac{a(2b-b)}{2^2b^2k} = \frac{ak}{4bk} = \frac{a}{4bk}$$

$$e^{-\frac{a}{RT_{v}}} = e^{-\frac{a4BR}{Ra2b}} = e^{-2}$$

$$P = \frac{RT}{V-l} e^{-\frac{a}{RTv}} = \frac{Ra}{4kR(2k-l)} e^{-2} = \frac{a}{4k^2e^2}$$